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— ~ T IHave called this book the General Theory of Employment, Interest and Meney, placing the
emphasis on the prefix general. The object of such a title is to contrast the character of my
arguments and conclusions with those of the classical theory of the subject, upon which I was
brought up and which dominates the economic thought, both practical and theoretical, of the
governing and academic classes of this generation, as it has for a hundred years past. 1 ghall
argue that the postulates of the classical theory are applicable to 2 special case only and not to
the general case, the situation which it assumes being a limiting point of the possible positions
of equilibrium. Moreover, the characteristics of the special case assumed by the classical theory

happen not to be those of the economic society in which we actually live, with the result that
its teaching is misleading and disastrous if we attempt to apply it to the facts of experience. |
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Answer all questions. Be concise and complete, and answer as rigorously as you are able.

(20%)

1. Answer the following statements as true, false, or uncertain. Defend your answer briefly, but
clearly. Undefended answers are not acceptable.

(a) Maximizing a firm’s profits is identical to maximizing the firm’s stock market value.

(b) The leadertannot get a lower profit in a Stackelberg equilibrium than he would get in the

Cournot equilibrium.
(c) An explicit delineation of property rights usually eliminates the problem of externalities.
(d) Electric utilities often practice second-degree price discrimination.

(20%)

2. (a) Show how the demand curve may be derived from the price consumption curve.
(b) Show how the Engel curve may be derived from the income consumption curve.
(10%)

3. Suppose a consumer choose two goods, consumption and labor (C, L ). She also has some

nonlabor income { m ), so that her utility function

ﬂCJaLXU(.C,L) suchthat PC=wL +m

Show that this individual might decrease her hours of work as her wage rate increases.
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4. Consider a duopoly with product differentiation in which the demand and cost functions are

g, =88~4p, +2p,, C, =10g, for firm 1, and
g,=36+2p,—4p,, C,=68q, for firm 2.

Derive a price reaction function for each firm on the assumption that each maximizes its profit
with respect to its own price. Determine equilibrium values of price, quantity, and profit for each
- firm.

10
(10%)
5. Find the production associated with the following cost function:

12

C=y(w! +wl)
15
(20%)

6. The demand for telephones in a mid-size city is given by
i Q=1,000-50P

20 where Q is the number of homes buying service (in thousands) and P is the monthly connect

charge (in dollars). Phone system costs are given by -
TC =500 /r (0.1Q - 20) for Q> 200.

- (a) Is telephone production a natural monopoly in this city?
250 (b) What output level will an unregulated monopoly produce in this situation? What price will
be charged? What will monopoly profits be? )

(c) If there is contestable competition for the city franchise, what price will prevail?
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1.(20%)
Let (X,Y) be a continuos random vector with joint density function

f(JC,y)=cxy, - D<x<y0<y<l

What is the value of ¢ it should be?

2.(20%).
Find the maxnnum—hkehhood estimator for & in the pdf

2

(0 =¢“‘;““’,y> .

Assume a random sample of size n has been drawn.

3.(20%).
Let ¥,Y,,....,.Y be a random sample from an N(x,o”) pdf. Show that
the variance of the sample variance is given by

- -1y
Var($?) = 20 where ¥ =&—
n-—1 n-1

4.(20%).

Let X, ~N(2,4), X, ~ N(4,10), and X, ~ N(8,16). The covariance
between X, and X,, cov(X,,X,)=2.Further, cov(X,,X,)=-3, and.
cov(X,,X,)=—5.Now, let ¥=X -2X,+3X,—4,and

Y,=2X + X, -3X, +5. Find the joint distribution of ¥, .
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5.(20%) 2
Consider the multiple regression model ¥ ~ N(8, +Bx+ 8z, o),
independent. Suppose we observe the following data

x -4 -2 20 1 2 4

Z 1 2 3 4 3 2 -5

Y -10 -4 0 1 0 4 11
Find

(a). The ordinary least squares estimator of the /, and the unbiased

estimator of ¢.
(b). Please test the null hypothesis that f, =4.

' R
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1. X consumers are.relatively responsive to price i:hanges, demand is said to be
(a). elastic

(b). inetastic

(¢). favorable

(d). unfavorable

2. The price elasticity of demand for a good will be greater (in absolute value) the

the item in the budget and the the number of substitutes.
(2). smaller; greater

(b). larger; greater
(c). smaller; smaller
(d). larger; smaller

The law of diminishing returns says that as more and more of an input is added in

the production process, holdmg constant all other inputs, aﬁer some point the
will begin to

(a). MPP of that input; decrease
(b). MPP of that input; increase
(©). total output; decrease
(d). total output; increase

-If actual price is below the market equilibrium, there will be a and price
will

(a). shortage; increase

(b). surplus; increase

(c). shortage; decrease

(d). surplus; decrease

A perfectly competitive firm will earn normal profit if price equals:
(a). MC.

(b). AVC. |
(c). MC=ATC.
(d). MC=ATC=AVC.
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Full employment exists when everyone:
(a). is working.
(b). who wants to work is working at the job he or she desires.

(). who wants to work at the prevailing wage rate is working at the job he or she desires.

(d). who wants to work at the prevailing wage rate is working at a job for which
he or she is qualified.

If the nominal rate of interest does not increase in proportion to the increase in
prices during inflation, this is a good time to be a

(a). lender

(b). borrower

(c). saver

(d). aand ¢

Gross national product (GNP) is the total value of in the economy during
a given year.

(a). sales

(b). final goods and services produced

(c). consumer goods produced

(d). investment goods produced

The most likely outcome of printing money to finance deficits is:
(a). legal difficulties.

(b). unemployment.

{c). inflation.

{d). a run on banks.

10. A tax on a resource or input its price and its use.

(a). increases; increases

(b). decreases; increases
(c). increases; decreases
(d). decreases; decreases
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